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= 16,968,041 16,519,441 448,600
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2 77,688,325 77,568,325 120,000
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= 10,742,083 10,693,483 48,600
dEd=sy |4 24,645,200 24,668,600 223,400
= 21,160,784 21,160,784 0
| 102,000 20,000 18,000
= 3,382,416 3,387,816 25,400
ZISHHEHMAAIE SEUHS A (=1) 132,600 156,000 A 23,400
| 102,000 120,000 A 18,000
= 30,600 36,000 A5,400
403 UHXISHH S =0l 132,600 156,000 223,400
| 102,000 120,000 A 18,000
= 30,600 36,000 A5,400
01 AXISHMA=E L 132,600 156,000 223,400
QIS ZEIHIMAAIE SHS ALY 132,600 156,000 A 23,400
| 102,000 120,000 A 18,000
= 30,600 36,000 A5,400
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= 11,923,200 11,803,200 120,000
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s9I|H SSEX 2HEIA(21) 174,000 0 174,000
= 120,000 0 120,000
= 54,000 0 54,000
308 XX/ €M SO/ & 174,000 0 174,000
= 120,000 0 120,000
= 54,000 0 54,000
01 RASHBNEES 174,000 0 174,000
O=sgIIH SaEX X 174,000 0 174,000
= 120,000 0 120,000
= 54,000 0 54,000
SHMAD|B XA 27,760,210 22,475,895 5,284,315
= 6,342,290 4,057,975 2,284,315
X 13,760,000 13,760,000 0
£ 2,600,000 0 2,600,000
=S 5,057,920 4,657,920 400,000
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2 6,326,000 4,026,000 2,300,000
N 1,723,000 1,723,000 0
s 2,600,000 0 2,600,000
= 4,290,000 3,890,000 400,000
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IISUHAXA(=22) 2,100,000 0 2,100,000
£ 2,100,000 0 2,100,000
403 XA XISHHSXt=01H 2,100,000 0 2,100,000
S 2,100,000 0 2,100,000
01 AXISHMA=E L 2,100,000 0 2,100,000
OJtE 2=U2 2,100,000 0 2,100,000
= 2,100,000 0 2,100,000
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£ 500,000 0 500,000
403 XA XA SX=01 500,000 0 500,000
= 500,000 0 500,000
01 AXISHMA=E X 500,000 0 500,000
OJtstH® M=Kl &4 500,000 0 500,000
£ 500,000 0 500,000
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= 16,290 31,975 A 15,685
N 12,037,000 12,037,000 0
= 767,920 767,920 0
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= 16,290 31,975 A 15,685
202 044l 3,090 4,975 A 1,885
= 3,090 4,975 A 1,885
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= 3,090 4,975 A 1,885
403 A XISHHSX=01H 13,200 27,000 A 13,800
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O=S M MEHEA FEXEX X2 13,200 27,000 A13,800
= 13,200 27,000 13,800




